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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper

Q1. Using data on public health expenditure in India, can it be concluded that at least some of
the COVID-19 mortality in India is related to the health policy that has been pursued? Explain.
What policy lessons can be drawn from this experience, both for the centre, as well as state-

level public health expenditures?
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Q2. Explaining the structural constraints of the Indian economy, discuss how the development
strategy and priorities have evolved over the years. In this context, also discuss the changing

perception on the role of the state and planning.
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Q3. Development is legitimized as a goal because it is an important, perhaps even an
indispensable, way of gaining esteem. How far do you agree with this statement? Discuss.
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Q4. Analyse the theory of demographic transition in context of the Indian economy. Has India
been able to sufficiently exploit the window of opportunity available to it, in terms of human

resources, since the 1980s?
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Q5. What is the relationship between occupational structure and economic development?

Explain the changes that have taken place in the occupational structure of India since 1951.

95. AEa¥e ST 3R 3nfde [ea & ST Far G99 g2 1951 @ #9”d &
Wﬁﬁgmﬁﬁmﬁﬁm

Q6. Write short notes on any two of the following:

a. Education and urbanisation
b. Economic inequality in India
c. India’s fiscal policy

d. Deficit financing
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